Tm £ ReversAl

e e ———

Ciaeo\ @ McC X,, Xz,.,., cin ool
GTL #\L LﬁckwmrJS Cl’lﬂ'\ 173 MNA&A? ‘]lI;n. .

Theown ¢ Given o MC o Sh'ho-\m?,
diskeb. T, od {P(?(o’J) TL ot
Yn=)<!_..n be #e revesed chaw.  The
WD Yy a ML

1‘_!
@)V has traps,fion fn)las ij = Pji ’%
® Y e stotin q? dsf. T




“ rang onn wq,\ L’
4

& BRW o n- cycle 's€ (0.1))

OZ\ Kpng= Xo t 2 (MO(/'\\}
/\9‘ h'l'l X n .

'-Po;" fh/ Zn are iid w-p- ?(&u:'):s

;/"f* Plga=-1) =l

Q}: wlnb.l' n fhe stat  distrib ?

Dt = O, li-j{# [ (med n)
‘) { s, j=l4l, (med o)
=61 j=a-t (wed n)

T = }l'\(': Lo D) s stat.

Chedt @F) = ot ARy -

1] ra) 7 j

ST uess +ime gl i sam

Chan lg.x\' whh o Sworfu‘ bJ I-<.
lew-tl‘- c]:YuHa L& Coﬁru‘{'l% &'J



“:Qa__ﬁ A MC. inme;“renrcnlo(e

(Pr) = Q') ‘Fﬂ“ n" ?,‘j. (NO}&'- H\l‘s n cl«!es
e fub et Q@ b well- defied, )

T

E‘qfuh/ + Pij’- Qj)' = PJ,‘ .-1-r‘i

-
.
3

Cp @ _p e
& :'It'".- ?fj = T ?j,, 1%';)' ”3
) JO/faJ&J Bc.! afce 87.5- &

-—

Theonm @ TFf fwe s o soubion X 10
e 6O e, Qe BXipjr Kk Vo and
28 =1, fen X=T & the staf. dit.
:“J e chan & oi fie —cewaille..




Pook: T @ egs Nld Fo %, e
Checl H\WL 3() 'P 5'-'7? : &)
Ll
C’Z?\j = %K.:Pi)=2£_x)rjz

A
:Xj%

=4 XJ
,So X=T 15 #1"'.’ q.\gJ 50 ]U\.t chein
i fme revershle. (% & ofafit] whh T ).

’ -'ﬂ—________.ﬂ——w-_--—__"-.———-""'_—"' S H_<_':'L*——""—
£.9. RwW on fo, 1,2, 3...] # S< 3

!

liinr =5, Pris = I2S i3
Po,l =3 / Po;o = ""S‘
ideat we @ o fid T

G‘uag; : "Tfi = LE_(_"_E) P Seme T € (oyl\
9
= T Piin = Tin Piays

7 .
(il s = " (-r) (I-5)

=) r= i‘%g he the fo roscdala.l,(
¥ q goluf jon.



7
Chech =0 m, Py = T, F’O

n

Ty = rile-o) (r)s = rieYll-s) &
S
Y= A
i What about =)= 9 -

AlonS l\o[ JS ‘
Se T, = r(l~«) & skt., and  the
chem & twe reverhle .

ex - SRW on a Srqfla (M (anclom W&'L)

Grarl\ G-, vertices V' and 24}& E = {(vw): sm
dxw\; V,wé\’
l

¢ Pv,.,d = ;‘{Za“v : (vw)e E
O, ofh .

Sen  bofie sttt W= Q_ii;v/

veVv

7

Cl)(olc, (*) . Ty va = Tw FwV (it (V'w)GE)

Ts hme— #_d__i/a_‘/.__;_:f'fé_ﬂ“"/_'_ e
revevshol Tde 57 Ty du’

.-"’.



